Efficiency vs dr

x
<
9
)
c
o)
3]
£

Y

0
0
0
0

Ratio

0.02

.018
.016
.014
.012
0.0
.008
.006
.004
.002

1.0

o
©
a

[y
TTTT] T T

—=— DQM_CKF_XiMinusNOPU_base

.| —*— DQM_CKF_XiMinusNOPU_retrainOldFiles125_v2_prelimWPM_epoch3

=
S

w

1072

) 1
TP min AR

[ Efficiency vs dr (track,jet) |

+—

o
o
)—
c
e
g
o
>
>
9
c
9]

8
£

©
0.04

Ratio

0.1
0.09
0.08
0.07
0.06
0.05]

0.03
0.02
0.0

Vel

[y

0.95

=
o

1
w

Efficiency vs pu

o]

o
9.009
3.008
(]
©®.007
=
%.006
0.005
0.004
0.003
0.002
0.001

Ratio

1072 107
AR(TP, jet)

0.0

...............................

...............................

..............................

1.0

0.95
2

(=]

Pileup




	Contents
	Page 1


